
La multiplication en ligne

1 x 3 = 3

2 x 3 = 6

3 x 3 = 9



La multiplication en ligne

2 x 3 = 3

5 x 3 =  1  5

3 x 3 = 9     
9 + 1 = 10



La multiplication en colonne

x

8 x 7 = 56 J’écris 6 et je retiens 5.

6 x 7 = 42 → 42 + = 47 
J’écris 7 et je retiens 4.

2 x 7 = 14 → 14 + = 18
J’écris 18. 

54 268 x 7 = 1 876

5

5

4

4



x

. x . = . . J’écris  . et je retiens  .  .

. x .  =  . . → .  . + = .  . 
J’écris   .  et je retiens .  .

. x  .  =  . . → . . + = . .
J’écris   . .  . 
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